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EbopinGl
filiks
fh =7 TEpEH K& Ke)| =iE I Z{E
R K& 30 1,404 715 335
E3Ean B3 349 | 1,026 669 108
1ES = 247 | 1,242 163 191
KROLD
EZZys 5334 16| 2,214 ] 2,024 | 1,890
O
EZ&6) B 5 5,616 5,486 | 5,400
HHW TEE 3 4,212 4,212 4, 212
o = 6| 1,080 | 1,080 1,080
51 B 30 1,728 1,728 1,728
IRIREZ
TESY FEA 20 | 2,160 | 1,580 | 1,350
HEY 5 40 1,296 945 864
CCH %7 25 | 1,080 | 1,080 | 1,080
aRE
xH
NE JETEE 51 864 155 140
Hw 5 B 35 972 886 540
D IR
Mo E
FERA L I 203 | 1,350 | 1,113 810
=0T e 314 | 1,998 1,456 | 1,199
Y30 335 150 324 247 216
o6z ZH 60 162 162 162
N L
o U
0L a7 86 821 667 475
SAE
TAVH Bl 40 2,700 2,298 2, 106
eI
P KL 217 1, 080 456 236
EZ3 W) BRE 75 | 1,242 | 1,185 | 1,134
<AESAH
WAEESAH
EDhFESS BRE 73 1,944 1,495 1, 058
B TCRE 158 1,998 1,247 324
EhbH = 98 972 700 186
b8
FRBOB
WwWeED
E3%S
NAZTED Al 6 648 648 648
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